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QUESTION BOOKLET
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Total Marks : 200 3THaH 3756 : 200
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1.  Which one of the following is a conventional energy source ?

(A) Biomass energy (B) Tidal energy

(C) Geothermal energy (D) Solar energy

T & 8 9 A1 U TR el Hid 8 ?

(A) IEME S (B) SARE A (C) @I Ha (D) SR FHal

During Solar eclipse

(A) the sun comes in between the Earth and the Moon.

(B) the moon comes exactly halfway between the Earth and the Sun.
(C) the moon comes in between the Sun and the Earth.

(D) None of these

T TR h qHA

(A) Td, 9ot 3R T5H1 o off= § 371 ¢ |

(B) ==, gt 3R 3 o Jieh 31efuel | AT 2 |

(C) =TT, et 3R T o o= ST g |

(D) S8 | 13 I

The scientist who first discovered that the Earth revolves round the Sun was
(A) Einstein (B) Dalton (C) Newton (D) Copernicus
TR T wem SR @ISt i foh geaft, T3 o =rgfaes IiGhAY Stdl 8

(A) ST (B) Sleed (C) A (D) I
Density of water is

(A) minimum at—4 °C (B) maximum at 4 °C

(C) maximum at 0 °C (D) minimum at 0 °C

Sl 1 T BT B -

(A) —4°C R FaAHY (B) 4 °C W Afuehad

(C) 0 °C = 3fepan (D) 0°CRFAUHA

Ball Pen functions on which one of the following principle ?

(A) Surface tension (B) Viscosity

(C) Gravitational force (D) Boyle’s law

it 94 o fora frga mes swear 2 7

(A) I8 T (B) ¥ (C) & & OIRCIPHECARERE|
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10.

11.

When ice melts, its

(A) Volume increases (B) Volume decreases
(C) Volume remains the same (D) None of these

STel o freretd! & dt &Rl

(A) A TEATE | (B) ARG TeAT® |

(C) 3Tra I8! w1 8 | (D) ¥ ¥ =S &l
Sound wave cannot pass through above

(A) anideal gas (B) asolid-liquid mixture
(C) aliquid-gas mixture (D) aperfect vacuum
&1 <l T TE o) Fehdll &

(A) Toreht 37eel 19 & B (B) 3rg-gd frsror | gret
(C) ga-Ta s & gt (D) ot faa & gt

Device used to measure very high temperature is
(A) Pyrometer (B) Thermometer(C) Barometer (D) Calorimeter

31f 3= ATIHH AT % TATT S 3T &
(A) T (B) wwifi (C) e (D) heAriiex

The image formed on the retina of a human eye is

(A) real and inverted (B) real and erect
(C) wvirtual and erect (D) wvirtual and inverted
HIE <3 oh AT W ST Ufcifod gram & -

(A) IRl qUT AT (B) T qYT Hie
(C) ATHTE a1 e (D) JATHTET 99T 3T
A fuse wire is made of an alloy of

(A) tin and aluminium (B) tin and lead

(C) tin and copper (D) None of these
RS S 57 g w1 ST AT & 9 B

(A) T aun Teyfufem (B) feaaureis

(C) fea aun siw (D) 8 O His &l
A radar beam consists of

(A) microwaves (B) X-rays

(C) ultraviolet rays (D) infrared rays

Teh TSR 19 5+ B1ell 2

(A) geAaun g (B) X-foni @

(C) st fopeomt & (D) 3Teh fopton &
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12.

13.

14.

15.

16.

17.

18.

The gas used in a refrigerator is
(A) cooled down when expanded  (B) heated up on flowing
(C) cooled down when compressed (D) None of these

Tefie O Sk |

(A) fs @i giet 1 S BIet 8 | (B)  Sellfed &1 0 7 2refl 2 |

(C) wefifed B 3L et 2 | (D) T & I Tel

Radioactive substance used in dating geological object is

(A) C-11 (B) C-12 ©) C-14 (D) None of these

- forst o 6 fafr—faeioor & wqes e -afshar uered 3

(A) C-11 (B) C-12 (C) C-14 (D) 3T & IS Tl
Butter is a colloid formed when

(A) water is dispersed in fat.

(B) fatis dispersed in water.

(C) fat globules are dispersed in water.
(D) None of these

HeRg Ueh ShiTd & ST §-dT & 39
(A) SAB AT URFIU AT | (B) STl H T 1 IRV BT 2 |
(C) 91T 1 It § IRETUT Bl 8 |(D) $H o I3 el

Which one of the following is not a chemical change ?

(A) Digestion of food (B) Freezing of water

(C) Curding of milk (D) Ripening of fruits

o= o =1 U v e gftedH g 8

(A) WISH T I=H] (B) STe1 o1 fawtentor

(C) GY T G&l &1 (D) el ST ThAT

Which one of the following is the softest metal ?

(A) Copper (B) Iron (C) Aluminium (D) Sodium
= 0 @ 9 = g gem W R ?

(A) dH (B) ©i® (C) tegwiEwm (D) wifsad
Dry ice is

(A) COs(s) (B) H,O(s) (C) NH;(g) (D) None of these
I I B -

(A) COy(s)  (B) HyO(s)  (C) NHy(g) (D) ¥ &R

Glass 1s best described as a

(A) Colloidal sol. (B) Solid

(C) Supercooled liquid (D) None of these

TATE h STH AT A S ®IH |

(A) Hfa faes= (B) 39 (C) Al 58 (D) 314 § IS &1

5 Code No..: C-413/2017/Series-A



19.

20.

21.

22.

23.

24.

In the heavy vehicles, diesel is used as fuel because

(A) 1t has high power and economic savings.

(B) itis less costly and useful for the fuel savings point of view.
(C) it has more mileage and the safe for the engine.

(D) None of these

AT aTeA1 § SISTel k1 T 384 o &9 § foha SITaT &, Rifeh
(A) 308 3= wifth qen i s=rd Bt 2 |

(B) ¥g Y Geicll & 3N 3 <l 5=1d i ¥ & 3T 7 |
(C) 8 3Tk WISCIST ol & T 391 o [oTQ GUard 2 |

(D) 70 § %18 Tl

The natural rubber is a polymer of

(A) isoprene (B) acetylene

(C) vinyl chloride (D) None of these

TTehcieh o Teh gt & -

(A) AT T (B) E&ﬁﬁ?ﬁj E7)
(OREEIESESINEEED] (D) ¥ ¥ =S &l

What is the pH of pure water ?

(A) 5 (B) 7 ©) 9 (D) None of these
3§ ST %l pH TohaaT 87

(A) 5 (B) 7 C) 9 (D) 8 9 HIs &l
The main constituent of Vinegar is

(A) ascorbic acid (B) citric acid

(C) acetic acid (D) None of these

f T <1 T T T 8 7

(A) wEHite Ufie (B) fafemufe  (C) wHifew tfas (D) o & i

The metal present in Vitamin B, is

(A) Magnesium (B) Manganese (C) Cobalt (D) Iron
forerfi B, # HN[g 91d &

(A) ¥t (B) FHS (C) wrETee (D) g

Vermicompost is a/an

(A) synthetic fertilizer (B) organic bio-fertilizer
(C) inorganic fertilizer (D) None of these
eI 3 U

(A) Toafes @ (B) HIEfeh STAI-3aTh
(C) ITHTETh IJdb (D) T A IS &
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25.

26.

27.

28.

29.

30.

31.

Suicidal bag of cell is
(A) nucleosome (B) ribosomes

SHIST =T SATeHET el 8

(A) @™ (B) TsaEm
Pair of ribs found in man :

e i Fope ST TR 9T A E 2
(A) 10 (B) 14

Dinosaur was

(A) mammal

(C) large herbivorous animal
313=ﬁ'FﬁT O

(A) &R

(C) feremer qurweft wmoft

What is MRI ?

(A) Magnetic Resonance Imaging
(B) Magnetic Record of Intestines

(C) golgi bodies (D) lysosome

(C) Meflem (D) oREEm

(C) 11 (D) 12

(B) reptile
(D) None of these

(B) @Ed
(D) T ¥ HIE T

(C) Magnetic Recording of Investigations

(D) None of these

MRI 1 8 ?

(A) Bafees Wy safsm

(C) Bafesh fnifén aATh STz

The cause of tuberculosis is

(A) Fungi (B) Virus
TIETHANIH T R &

(A) ®%S (B) fersmy
Insulin is a kind of

(A) enzyme (B) salt
ST Teh TR T &

(A) Topuaeh (B) <&l

(B) #afees fenie 3176 3owersa
(D) ¥ § 1S Tl

(C) Bacteria

(C) Hemsiiam]

(D) Protozoan

(D) RS

(C) hormone

(C) B®H

(D) vitamin

(D) feerfim

Process by which plants prepare their food is called

(A) Photosynthesis
(C) Carbohydrolysis

(B) Photorespiration
(D) None of these

e} gRT IS SR S i TR ShadTdl 8

(A) TehTRI-HIATT

(C) wERESId

(B) VhII-YaTHI=SAT
(D) T & S Tl
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32.

33.

34.

3S.

36.

37.

38.

Bile is stored in human beings in the

(A) Stomach (B) Liver (C) Gall bladder (D) None of these
A B o s g g B

(A) IWREH  (B) IHaH (C) fammd (D) 37 9 IS &l

Human skin is

(A) an organ (B) atissue (C) acell (D) None of these
HHE =

(A) THATH  (B) Fuh (€) »m (D) ¥ & %1 Tl
A seed is ripened

(A) flower (B) ovule (C) ovary (D) None of these
Teh Sl & TehT g

(A) T (B) i (C) IvEEM (D) 3H € IS &l

Tallest tree is

(A) Eucalyptus (B) Deodar (C) Sequoia (D) None of these
S99 B

(A) FHfed  (B) <A (C) Fpan (D) ¥ & &I T

What is mixed farming ?

(A) Growing of several crops in a planned way.

(B) Growing several crops and rearing animals.

(C) Growing Rabi as well as Kharif crops.

(D) None of these

fufsa Hiy = 87

(A) 3T HES! I FHITAR ITHT |

(B) 3T HET ol T AT YIAT |

(C) T = T1I-T1Y TlE HHA AT |

(D) ¥ | I el

Earthworm is called farmer’s friend because

(A) 1t make soil porous. (B) it fix atmospheric nitrogen.

(C) it work as fungicide (D) None of these

¢ ek THA HEATA & FAIh :

(A) 9 HeT I T §H14 ¢ | (B) A IHUSHHR TS2ISH ] fRR I & |

(C) I Bhe AT i TE IR B & | (D) FH A HIE Tl

Saffron is obtained from which part of plants ?

(A) Stem (B) Anther and whole flower
(C) Stigma (D) None of these

e uTed % form T | T TR AT 2 2

(A) @ (B) TETERI T HEYUT oY
(C) fezmm (D) & & ig T

Code No. : C-413/2017/Series-A 8



39.

40.

41.

42.

43.

44,

Which one of the following is responsible for the stimulating effect of tea ?
(A) Alkaloid (B) Flavonoid (C) Steroid (D) None of these
71 o @ =R =T % IS TWTE o fore HeR 8 7

(A) Tehedlss  (B) TaHise  (C) Wise (D) 398 8 H1S T&l

Pashmina wool famous for its warmth is obtained from
(A) Goat (B) Sheep (C) Bear (D) None of these
gfgEeT 37 319 3Isure o forw wfdrg 7, 38 wme Tk Sran 2
(A) FHH (B) #e¥ ©) t=H (D) & & hiE T

‘Encryption’ in cyber world means

(A) Cyber theft

(B) decoding some one’s personal data

(C) algorithmic alteration of password into scrabbled data to prevent access
(D) None of these

T3S G H TGRS 8 379 &

(A) HTEsR SR ()

(B) fortft < =fehiTa a1 ol ferehifed i |

N N aN

C) UG /THT Ush o TTT UTHES T TATING eh ey, Thees 21 H T |
d

(D) & & FE T

Who is the father of Super Computer ?

(A) Martin Cooper (B) Lord Kelvin

(C) Seymour Cray (D) None of these

YR B HT b hIF & 7

(A) WiEAFR  (B) @EHca (C) AR (D) ¥ & &I T

Which one of the following computer languages is not the procedure-
oriented language ?

fret i Tt et A U HRIfafY 3@ i T8l 8 7
(A) C-language (B) FORTRAN (C) COBOL (D) Simula

Which one of the following applications uses the UNIX as an operating
system ?

(A) Internet servers (B) Mobile devices

(C) Work station (D) All of these

71 T 9 S 1 TUh TAToheH e hl Teh TG YUMTel! o &9 H ST T & ?
(A) 3T Ted (B) Hiese fearsy

(C) o LIA (D) Ig Tt

9 Code No..: C-413/2017/Series-A



45.

46.

47.

48.

Which one of the following internet protocol version is the most deployed
internet layer protocol ?

(A) IPv2 (B) IpPv4 (C) IPv8 (D) None of these
T 19 91 Toh 32 TIeiehicl ot HaTfereh TR St TR Tieiehidl g ?
(A) IPv2 (B) IPv4 (C) IPv8 (D) 8 O His &l

What is computer firewall ?

(A) It is software or hardware-based program to protect the personal
computer from crash due to bugs.

(B) It is software or hardware-based program to protect against threats and
make the internet network secure.

(C) It is software or hardware-based program to enhance the speed of the
personal computer.

(D) All the statements given above are correct.

HIL BT R 8 7

(A) g Teh TTFRAI ST BTSSR ST T & ST 78 oh RN THAA HFRI
1 3 BN W GUId W R |

(B) % T GIFCAT U FIEa M T 3 AT Il & 807 il &
AUT §2E AaTeh ! YU BT 2 |

(C) ?Ts’@gﬁ%é’q? ST TSR ST T 7, S THeT hred hi THE i
TR |

(D) 3UUH Tt HUT TE B |

What is the Super Cookie ?
(A) It is a cookie that replicates after it is erased from the browser’s site.
(B) Itis a cookie with a long life span.

(C) Itis acookie with a public suffix domain.
(D) None of these

T Jhl AR 7

(A) I% 9% Fehl 3 ST SIS T3¢ H THTT S o I9=Td Gavrd! @ |
(B) I% Fohl ol @i hi 2 |

(C) % Pohl UfecTeh T (Ythard) SO & WA BT B |

(D) 3T | g &l

Which one of the following microprocessors is the world’s. first
commercially available microprocessor ?

(A) Niagara (B) Niagara-2 (C) Intel 8008 (D) Intel4004
T 1 O 1 91 qTSsh IR foed Rl gt STk At W 39Tt HIShIIIEE § 7
(A) Famm (B) Famm-2 (C) 32«1 8008 (D)3=a 4004

Code No. : C-413/2017/Series-A 10



49.

50.

S1.

S52.

53.

54.

5S.

56.

Most commonly used operating system in the super computers is
(A) Mac OS (B) Unix OS (C) Linux OS (D) None of these

IR B § Faieeh G TR 9L TR TR Jorett &

(A) B 0S8 (B) I 0OS (C) @B OS (D) 398 ¥ 15 &l
Who is the father of Computer Science ?

(A) John Moore (B) Adam Osborne

(C) Neal Stephenson (D) Alan Turing

HI T3 T Sk i & 7

(A) SIH T (B) Uem 3gaH (C) Hial feehwea (D) wel <far

“Yapaniya’ was a school of

(A) Jainism (B) Buddhism (C) Hinduism (D) None of these
I’ (Yapaniya) T TR o :

(A) SHgd® (B) sigwi® (C) ‘gwd® (D) FHIARRTE

Sarnath is associated with which aspect of Buddha’s life ?

(A) Firstsermon (B) Residence (C) Death (D) None of these
ARATS GG b e oh (8 T8e] & Y T&dl & ?
(A) YoM guiey (B) T ©) I (D) ¥ 9 [ T&

The great scholar, Banabhatta, lived during the reign of
(A) Kanishka  (B) Ashoka (C) Harsha (D) None of these

g fogm Surg fordeh I A H @/ ?
(A) HiT=h (B) 31k (C) = (D) o & g e

‘Jaubani’ is a dance form traditionally performed in North Eastern India by
the

(A) Dimasas (B) Mizos (C) Khasis (D) None of these
“STer1” Teh TR o St & S STX-gfl WRd | T&qd sl @l g -

(A) femmmatigmn (B) fusiigm (C) wifd@igmn (D) 30 @ 18 &
Which of the following is a dance drama ?

(A) Odissi (B) Manipuri (C) Kathak (D) Kathakali
=1 % 8 = = v g Aifewr 27

(A) SffeHt (B) #fugd (C) YU (D) Yhedl
India’s first talkie film produced in 1931 was

(A) Neel Kamal (B) Shakuntala (C) Alam Ara (D) Nong¢ of these
WA 1 Uget! Sietd! fhen 1931 1 fafifa off -

(A) oA (B) WHel () IOH-HAW  (D)FH § HiE &
11 Code No..: C-413/2017/Series-A




57.

58.

59.

60.

61.

62.

63.

Which one of the following sites is famous for prehistoric paintings ?
(A) Ajanta (B) Amarawati (C) Bhimbetka (D) None of these

T o =1 st wriifagTiies fasehett o fou sfiig 27
(A) AT (B) 3T (C) fmsert (D) 8 © His &l

At which place the famous enigmatic Trimurty Sadasiva located ?
(A) Ellora (B) Ajanta (C) Elephanta (D) None of these

Torm wom w uferg e Brfd Tefye safem g
(A) TR (B) il (C) Tetther (D) T8 ¥ IS T

Gandhar Art is a combination of

(A) Greek and Kushan style (B) Indian and Greek style
(C) Indian and Kushan style (D) None of these

YR Al Teh TASH &

(A) e AT HITT Sl T (B) WRAT a2 e et i
(C) YT AT 0T St =l (D) 8 9 His &l

Who wrote the book ‘Neel Darpan’ ?

(A) Dinabandhu Mitra (B) Rabindranath Tagore

(C) Bankim Chandra Chatterjee (D) None of these
et U e fohe Torelt oft 7
(A) SHagfim (B) Wagma & (C) sformaag gesh(D) 370 & whig &

The sangam text ‘Talkappiyam’ is a work on
(A) Grammar (B) Astronomy (C) Medicine (D) None of these

T 37T “ATeAhm” (Talkappiyam) fora forw=r st ?&T 87
(A) SR (B) @i fasi (C) iy (D) T4 | 1S T4l

‘Baisakhi’ is celebrated on

(A) birth anniversary of Guru Gobind Singh

(B) birth anniversary of Guru Nanak

(C) establishment of Khalsa Panth

(D) establishment of Golden Temple

FATEY IcHd T ST ]

(A) T MGg o 94 fgad W (B) & M % I fggd ™
(C) WTerdT U shl TITIHT T (D) E9t AfeT &t LTI T

Which of the following festival is closely related to the legendary KingBali ?
(A) Onam (B) Pongal (C) Holi (D) Bihu

et I T I TRIUTeh Tt SiTeft & | &9 | Je1 33T 8 7

(A) 30U (B) Uit (C) Bt (D)-Tsg
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64.

65.

66.

67.

68.

69.

70.

Which of the following leader never became the President of Indian
National Congress ?

(A) Bal Gangadhar Tilak (B) JL Nehru

(C) Dadabhai Naoroji (D) Motilal Nehru

T oo |1 A Hvft WA TP U T ALA T S 7

(A) et TER faetes (B) AT NE€
(C) <rerT ISt (D) Hifelret F&&
Who of the following was known as ‘Deshbandhu’ ?

(A) Jyotiba Phule (B) Dadabhai Naoroji
(C) Chittranjan Das (D) None of these

71 4 9 1 <uEy T 9 S T A
(A) it (B) TS AS (C) faatmem (D) w7 @ Hi T

All India Trade Union Congress was formed in the year

e $TSAT 38 I BT <hl TATIHT <l T8 off a9 -

(A) 1928 (B) 1920 (C) 1922 (D) 1924
Mahatma Gandhi became the President of Indian National Congress in
(A) Kanpur Session, 1925 (B) Bombay Session, 1915

(C) Belgaum Session, 1924 (D) None of these

TETeHT Tef YA TF 10 o 37087 §4TT 1T :

(A) HEL AT, 1925 (B) i@ ATy, 1915

(C) serm™ AfGayH, 1924 (D) 8 9 His &l

Who is remembered as the pioneer of economic nationalism ?
(A) R.C.Dutt (B) B.C.Pal (C) B.G.Tilak (D) None of these

fopdt 31TfRfen Tere % T o w9 H A1e fepa SITaT R 7
(A) 3R g@  (B) fdiaer  (C) &t oo (D) 370 @ S &

Who presided over the Cabinet Mission ?

(A) A.V. Alexander (B) S. Cripps
(C) P.Lawrence (D) None of these
et firem 6t srezeran fohe <6t off ¢

(A) T Teewret (B) . e (C) . @i (D) 394 9 HIg Tl

Who of the following was associated with the August Offer ?

(A) Lord Linlithgow (B) Lord Wavell

(C) Lord Irwin (D) None of these

1 o @ 9 31T ST (offer) § T o1 ?

(A) g fomferert (B) @igddd (C) die sfed (D) 390 & g &1
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71.

72.

73.

74.

7S.

76.

Who was called the ‘Iron Man of India’ ?

(A) Sardar Vallabhbhai Patel (B) Lala Lajpat Rai
(C) S.N. Banerjee (D) None of these
YA T AIegEy fohdl ShaT T 4T ?

(A) TER TeaTHYTE Tead (B) AT ATSIA T
(C) TH.T. ssft (D) T 8 IS Tel
Who is known as ‘Lok Nayak’ ?

(A) Bal Gangadhar Tilak (B) Subhash Chandra Bose
(C) Jai Prakash Narayan (D) None of these
AR | TohE ST SITaT & ?

(A) oTeT TTeER foetes (B) GG 919

(C) SIISehIRT AT (D) 8 O His &l
Quit India Movement was launched in response to

(A) Cabinet Mission Plan (B) Wavell Plan

(C) Cripps Proposals (D) None of these
U BT Tl fehFeh forlier | T 7= 477

(A) hfse firgm s (B) et AT

(C) Tored =1 waTe (D) 0 9 His &l
The first state in India which was created on linguistic basis is
(A) Haryana (B) Gujarat

(C) Andhra Pradesh (D) Kerala

A <1 TA U= Forgeht fAmior wyramrd 31mer o fomam mm en
(A) B (B) TeRI (C) 3mg T (D) H

Jammu and Kashmir became an integral part of India on 26 October of
(A) 1947 (B) 1948 (C) 1949 (D) None of these

TorE I 26 TS 1 THY 3T HIHR AT 1 Teh STHTST T &1 AT ?
(A) 1947 (B) 1948 (C) 1949 (D) 3§ IS &

Who amongst the following drafted the ‘Sarvodaya Plan’ ?

(A) Vinoba Bhave (B) Mahatma Gandhi
(C) Jai Prakash Narain (D) Morarji Desai
e o @ fopee “adie ASHT o1 ITEY IR foham o ?

(A) Torrar v (B) H&TeHT et

(C) STIYhTST TR (D) HRRSH ¢HTE
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77.

78.

79.

80.

81.

82.

Which revolutionary died after 64 days fast in Jail ?

(A) Jatin Das (B) M.L. Dhingra
(C) Ramprasad Bismil D) None of these
I ShITdehIl HRITR | 64 TeT o IUETH o U9 ITRIG g1 AT ?
(A) e g (B) TH.U.4ie

(C) TwyHTe fafaret (D) T8 & =18 Ta

Rani Gaidinliu was the fearless freedom fighter from which of the following
part of the then British India ?
(A) Assam (B) Manipur (C) Allahabad (D) None of these

Tt ey o et wazar oAt off St archrer fafewt gfean < fopm Wi &
geted off ?

(A) & (B) HITH (C) 3™ (D) T & HE
The members of the Rajya Sabha are

(A) mostly nominated (B) elected directly

(C) elected indirectly (D) None of these

TS B h TG T .

(A) STferehTeT BT 81 & | (B) et fraffea &1 7 |

(C) we e & € | (D) T & i &l

What is the fix number of members of Lok Sabha ?

(A) 540 (B) 545 (C) 444 (D) None of these
ATk T o HeE <l fr T B

(A) 540 (B) 545 (C) 444 (D) 394 9 HIg Tl

The function of the Pro-tem Speaker is to

(A) swearing members

(B) conduct the proceedings of the House in the absence of the speaker
(C) officiate as speaker when the speaker is unlikely to be elected

(D) None of these

“Ti-2n” 7T I B 7
(A) TS T Y TGV
(B) 3tea&r it rufeafa § wed sl RIaTE! s Jerei ST |
(C) <& 31e & gA1d <ht feufa 7 &t |1, a1 31eaer it g Hriaed T |
(D) ¥ | I el
What is ‘Zero Hour’ ?
(A) when a Money Bill is introduced in the Lok Sabha
(B) interval between the morning and afternoon sessions
(C) when matters of utmost importance are raised
(D) None of these
“S[ A" T8 ?
(A) 59 T ifgeh Frdres wie 91 # W T |
(B) ITd:shIei T YT 39S T o HET I TaTaA
(C) T 3fci Hewel o fore 3R MU |
(D) 3 | g el
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83.

84.

8S.

86.

87.

To whom does the Public Accounts Committee submit its report ?

(A) Union Finance Minister (B) Chairman of Rajya Sabha

(C) Speaker of Lok Sabha (D) President of India

TR TG G 79T fee fohd Hivd & ?

(A) &g foa (B) UY 99T o L&

(C) < O & A (D) R % Tgafd

How many types of writs can be issued by the Supreme Court ?

(A) 5 (B) 6 <) 4 (D) None of these
gt =T gRT fehd™ JehR o TRATCYT SR fohdl ST Tehat 8 7

(A) 5 (B) 6 (C) 4 (D) ¥ ¥ I3 &l

Which of the following is not appointed by the Governor ?

(A) Advocate General

(B) Chief Minster

(C) Member of State Public Service Commission

(D) Judges of the High Court

et © 9 fergehl s TSoIdTer & G T8l 3hl STt 8 7

(A) wETfRrereT (B) et

(C) TSI ek Tl 3TN o F&T (D) = =TT & =ARTERS

The salary of the Governor is charged on

(A) the contingency fund of the state

(B) the consolidated fund of India

(C) the contingency fund of India

(D) the consolidated fund of the state

TSITe ST I ford TR o foram S 2 2

(A) TSI hl 3TehEehar 1Y (B) WRa i anfera Ay
(C) WA <hl 3Tehfayehar Y (D) T ! aafera ffy

The three-tier system of Panchayati Raj was initially recommended by
(A) Balwant Rai Mehta Committee  (B) Ashok Mehta Committee

(C) L.M. Singhivi Committee (D) None of these
TR TS <hl < -0 JoTTef! TR | STeifea <ht 15 off

(A) SAGAT Hgdl ST gR (B) 3791I% WEdl il gl
(C) Tet.un. fereht sudt g (D) ¥ ¥ I3 &l
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88.

89.

90.

91.

92.

93.

‘PRIYASOFT’ is related to

(A) Panchayat (B) Land Record
(C) Public Distribution System (D) None of these
fmarRe (PRIYASOFT) 1 HEY 2 :

INREIRGE: (B) ufu-ferid @
(C) Hresieh ferawor yureft @ (D) 0 O His &l
Who is the chairman of Second Administrative Reforms Commission ?
(A) Ahmed Patel (B) Bimal Jalan
(C) M. Veerapa Moily (D) None of these
Tt Semmafes U 3T ST AT D B 7

(A) 3ITEHE U (B) fewer SretH
(C) wH. <t Aigeft (D) T8 & H1g T

A financial emergency can be declared by applying which of the following
article of the constitution of India ?

mﬂ%ﬁw%maﬁaﬁmw TR JATHTAehTET Shi SISO <ht ST
Hehdl & ?

(A) 360 (B) 356 (C) 352 (D) 370
How many languages have been recognized by the Constitution ?
(A) 18 (B) 20 (C) 22 (D) None of these
Hfge™ o gRI fepdet WTSI3TT ol H=re SEH 6l T 8 7 .
(A) 18 (B) 20 (C) 22 (D) 8 9 HIs &l

Which of the following is contained in the eleventh schedule of Indian
Constitution ?

(A) Provisions of disqualification on grounds of defection
(B) Provisions of Panchayati Raj

(C) Provisions of Municipal Corporation

(D) None of these

e S 6 116 s g e g g e fafga 22

(A) TA-SCHA b YR T IRNT A o a4

(B) TR TS o Y4

(C) TR frm = graum™

(D) ¥ & FE T

Which one of the following schemes is the recast form of the National
Literacy Mission of India ?

(A) Bharat Kosh (B) Sakshar Bharat

(C) National Livelihood Mission (D) None of these

fe § | 9t SR WRa o TP |nerar T o1 gifed w@Ea g ?

(A) WRA BT (B) HI&R WRd

(C) T srrshiferent firsm (D) 3T & IS Tl
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94.

9s.

96.

97.

98.

Who are provided social security under the ‘Aam Admi Bima Yojna’ ?
(A) All landless labours living in rural areas

(B) All labours in urban areas

(C) Both (A) and (B)

(D) None of these

‘3T 31Tt ST AT o 31T feheeh! |THTRSTeR TR YeH Y TS ] 7

(A) T &= | T Aol 9t gy ahies

(B) gt &=t o weft sifirn

(C) (A)T (B)

(D) ¥ & F T

National Rural Employment Guarantee Scheme was launched initially in
(A) 5S0districts (B) 100 districts (C) 200 districts (D) None of these
YT TTHOT TSR TR ThiF TR di 9T Feref = oft -

(A) 50faid (B) 100f=id (C) 200f=ei® (D) 37H & 18 &1

NITI Aayog stands for

(A) National Institution for Transforming India
(B) New India Transforming Institute

(C) National India Transforming Institute

(D) None of these

Hifa (NITI) TR &1 AR 2
(A) IFE SEISREH BR I gfean (B) = sfean gramifin s=dege
(C) =9Ha 3fea oIt $ I (D) 1 8 15 el

Where is the Central Rice Research Institute located ?
(A) Shimla (B) Bengaluru (C) Cuttack (D) None of these

HA I SFTHU TEAH hal T ITaed & ?
(A) femet (B) TR (C) Heh (D) ¥ 8 IS Tl

Gilt-edged means
(A) market of Government securities (B) bullion market

(C) market of guns (D) None of these
filce-tga w27 8

(A) TR Ffqyfert 6l dTehe (B) Seia HIehe
(C) T b AThe (D) TH & =i T
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99. Priority sector lending by banks in India constitutes the lending to
(A) Weaker sections (B) Agriculture
(C) Micro and small enterprises (D) All of these

T § sehi g0 feu ST a1t 5701 1§ fope &1 <l Mafierdt S T8 8 2

(A) AR 911 o forg (B) fY o et
(C) H&H T &g 3ewi o fo7q (D) 3IWIh Teft = fetw
100. The major aim of devaluation is to
(A) encourage imports (B) encourage exports
(C) both (A) and (B) (D) None of these
I 1 @ 33 B
(A) 3T ! Tl (B) =i =t sgren
(C) (A) @ (B) <l (D) 3§ Ig TE
101. Insurance trade in India is regulated by
(A) SEBI (B) RBI (C) IRDA (D) None of these
A § ST S &1 90 a1 & $Heh g
(A) SEBI (B) RBI (C) IRDA (D) 8 9 HIs &l
102. ‘Octroi’ is levied and collected by
(A) Local bodies (B) State Government
(C) Central Government (D) None of these
(A) T frem gra (B) US¥ GGhR g
(C) g TR g (D) 8 9 His &l

103. Where was the electricity supply first introduced in India ?
(A) Darjeeling (B) Mumbai (C) Chennai (D) None of these

WIRA H Fergew forgga <t 3mmafd el & 3Ty 6 1T oft 7
(A) erofffef (B) gw=Ig (C) == (D) T @ Ig TE

104. The term ‘Paper Gold’ means
(A) Deficit financing
(B) Currencies still on Gold standard
(C) Special Drawing Rights (SDRs) of the IMF
(D) None of these
UG U TMes” | 3E 8
(A) =1 I T (B) 378 e Tvl AT <t gg
(C) IMF 1 faf3ts 3mewnfespR (SDRs) (D) 398 & IS T8
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105S.

106.

107.

108.

109.

110.

111.

Which one of the following is not a member of MERCOSUR (Southern
Common Market) ?

(A) Chile (B) Argentina (C) Paraguay (D) Uruguay
= 9 9 %91 ' MERCOSUR (He A HTehe ) o1 Uk 81 & 7

(A) Tt (B) 3T (C) T (D) 3I&d
Which one of the following state has the longest coastline ?

(A) Gujarat (B) Mabharashtra

(C) Andhra Pradesh (D) Tamil Nadu

foet fopa T <t waifires oneft e W@ R ?

(A) TS0 (B) #HeRTg (C) T (D) THeTTg

Western Ghats are

(A) escarpment of the plateaus (B) plateaus

(C) plains (D) None of these

afged =re &

(A) HSRI % TR (B) HeR (C) AgH (D) ¥ & HFE T
With which country India has the longest International boundary ?

(A) China (B) Pakistan (C) Nepal (D) Bangladesh
ferE <1 % |1 WA o1 T8 o g S S 8 7

(A) == (B) wifhd™  (C) =utA (D) ST
Zanskar range is situated in

(A) Uttaranchal (B) Arunachal Pradesh

(C) Jammu and Kashmir (D) None of these

(A) IaTIA T (B) 37U Y1 H

(C) v 3N Fedi d (D) T & %15 Ta

Which one of the following states has the world’s largest fresh water
island ?

(A) Assam (B) Meghalaya (C) Mizoram (D) None of these
fr fore o1 o forve o1 oe@ ST T ATEL G R ?
(A) HH (B) TETe (C) T (D) T A IS &

Which one of the following rivers forms an estuary ?
(A) Mahanadi (B) Cauvery (C) Krishna (D) Narmada

ot i ol 0 o o b o el 27
(A) W (B) wRA (C) Fom (D)
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112. The technique of inducing rain from cloud is called

(A) Cloud engineering (B) Cloud seeding
(C) Cloud computing (D) None of these
STEel ¥ ST YN H =l e 1oh haaATdl &
(A) FATSE ST (B) FARE Hifem
(C) FARE HFA[ (D) ¥ ¥ =S &l
113. Which one of the following is the first National Park established in India ?
(A) Corbett (B) Bandipur
(C) Great Himalayan (D) Pin Valley

T o | I |1 WA T LT foRam T gEel Ui Ut 8 7
(A) Hiee (B) g (C) e fgmemm (D) o atd

114. Which type of soil retains maximum amount of water ?

(A) Clay (B) Sandy (C) Loam (D) Red
foret ehT <1 a1 SRR <o <hl HTAT G Lt 7 7
(A) & (B) dreft (C) =pft (Gdl) (D) ot
115. Terrace farming is done
(A) on roof tops (B) on the slope of hills
(C) on mountain tops (D) indry regions
(A) i o Y W (B) UgIfEA! i gl W
(C) uddi & I W (D) I &A1 |
116. Which of the following is not a Kharif crop ?
(A) Cotton (B) Mustard (C) Groundnut (D) Maize
1 1 = v @l woet TE R ?
(A) U™ (B) &l (C) et (D) W
117. ‘Tehri’ dam is built on which of the following rivers ?
(A) Bhagirathi (B) Ganga (C) Yamuna (D) None of these
fegtt oty fa fPm A e 27
(A) wifteht  (B) T (C) @ (D) 7 & =7 T
118. Which of the following is called the ‘Shrimp Capital of India’ ?
(A) Kochi (B) Mangalore (C) Nellore (D) Nongefthese

=1 O 9 Torg vRa =1 ofim (i) Shfvee weTsmaT e ?
(A) =i (B) TR (C) R (D), 578 O I3 &l
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119.

120.

121.

122.

123.

124.

125.

Which of the following states is the largest producer of Rock Phosphate in
India ?

(A) Rajasthan (B) Himachal Pradesh
(C) Kerala (D) None of these
=T S |1 T 9 H b BIThe 1 Hd 9 3TCH & 7

(A) TSR (B) femm@ ™ (C) & (D) T8 | HI5 T&

‘Manchester’ of South India is
(A) Madurai (B) Chennai (C) Coimbatore (D) None of these

ZRroT I T BT 2
(A) g3 (B) =13 (C) ®RFE (D) T 9 HIE TE

Which is the artificial port of India ?
(A) Chennai (B) Mangalore (C) Kandla (D) Haldia

1 5 € %M |1 WA I HH TGUTE § 7

(A) ¥ (B) IR (C) =T (D) wfceam

Which one of the following is the largest tribal group of India as per Census 2011 ?
(A) Santhals (B) Tharus (C) Bhils (D) None of these

ST 2011 o 3TER 4 H 9 o1 91 YId 1 968 1 SHI11d 998 & ?
(A) Hord (B) ered (C) i (D) ¥ & g e

‘Red Data Book’ gives information about species which are
(A) dangerous (B) extinct (C) endangered (D) None of these

Ve 3 g’ 37 TolTarl o a1 & ge ot B S fop
(A) @@ g | (B) fogqmdl (C) @RAZ| (D) 390 A S TEl

‘SPM” stands for
(A) Standard Particles Material (B) Special Polling Management
(C) Suspended Particulate Matter (D) None of these

‘SPM’ <hT 339

(A) WSS UTidshed T (B) Tafrret wifer Bsme
(C) Twigs uTfdgpere HeX (D) ¥ ¥ =S &l
Ozone holes are more pronounced at the

(A) Poles (B) Equator

(C) Tropic of Cancer (D) Tropic of Capricorn
3t feogi ot arfereh <=t At 3

(A) gai | (B) AWM (C) Fh W W (D) Hht W TN
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126.

127.

128.

129.

130.

131.

‘Shola Forest’ are

(A) temperate forest (B) tropical montane forest
(C) tropical evergreen forest (D) None of these

‘Qﬁ?ﬂ 99’ % :

(A) o o (B) Swrhfeseie et o
(C) IWThiesE g He&gR o (D) $TH ¥ I3 &l

The largest number of tiger reserves in India are located in

(A) Madhya Pradesh (B) Uttar Pradesh

(C) Himachal Pradesh (D) None of these
YT H Ted 311reh 981 H TR e HiNg & -

(A) T I H  (B) IWIWH (C) AR Tmd (D) W d i 781

Which gas is responsible for global warming ?

(A) Oxygen (B) Carbon monoxide

(C) Carbon dioxide (D) None of these

Ifaeh qT o foie i 19 R 2 7

(A) TS (B) TS TIHIFETES

(C) hTeH SIEITTHATES (D) 8 O His &l

The oldest coal-field in India is

(A) Jharia (B) Raniganj (C) Bokaro (D) None of these

YA H &8 U e &84 & -

(A) =@ (B) T (C) SR (D) 0 O HIs &l

A cube 1s divided into 27 small cubes of 3 cm side each. What will be the
length of the side of big cube ?

(A) 9cm (B) 12cm (C) 15cm (D) 18 cm

Teh TFTHR I 27 B TRI 7 T fopam man | faeht yees o 3 anft i
2 | 912 T Sl YT Sl TS AT BT 7

(A) 9o (B) 12 % (C) 159t (D) 18 &

Piyush walked 7 m in the direction of North and then he turned to his right
and walked 6 m. After this he turned to his right and moved 15 m. Now how
far is he from the starting point ?

(A) 10m (B) 8§m (C) 9m (D) 14m
oy I feen § 7 et I 3R Sifg 4 T a9 6 Wi, TA1 | $Heh(UvT 98
TR gL 15 T, T | 37t 97 ST STRfRyeh ferfa & foraet gt W@

(A) 104t (B) 8. (C) 9. (D14 .
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Direction (Q. 132 & 133) : Read the following and answer the questions :

A, B, C, D, E and F are sitting in a circle facing towards the centre. D is
between F and B. A is second to the left of D and second to the right of E.

s (I . 132 991 133): 7 o1 9get I9A1 o I T -

132.

133.

134.

135.

136.

137.

AB,C,D,ETITFUH JAH 43 & | 371 §& i hIl Wk & | D, F U1 B %
FHA T g, A, D § IT¢ T HU A | 8 a1 E | Sl Tk qRLshA A 2 |

Who is facing towards A ?

(A) B (B) F (C) BorF (D) None of these
A I TE B @ R ET g ?

(A) B (B) F (C) BATF (D) T H Ig TE
Who is facing towards D ?

(A) C (B) A (C) E (D) None of these
D 6 & SiH @ fhugud?

(A) C B) A (€) E (D) T § Ig TE

Raman is 9" from downwards in a class of 31 students. What will be his
position from upwards ?

gjﬁwmmﬁﬁmﬁ 31 Toeneff 8, = 9 99 WA W | W T 39! fufa ==
)

(A) 221 (B) 24t (C) 21 (D) 23

Introducing a woman, a man said, “His father is the only son of my mother.”
How is the woman related to that man ?

(A) Mother (B) Daughter (C) Sister (D) Aunt
Teh TfEeT 1 UNE™ <d 5T U Mk S fop “3aeht fudm o orar =1 3Tehetl 43
2 17 39 Sufh O HigeT ol ey R 2 7

(A) Hra (B) (C) =& (D) =r=ft

If all the numbers from 7 to 51 which are divisible by 7 are removed, then
how many numbers will be left ?

%7@51%@W7ﬁmw GEITE fehTel o SITC q9 ot foha! HE&ATd o
?
(A) 38 (B) 36 €) 35 (D) 39

If the third day of month is Monday, then which day will be on 5" day-after
21% of the month ?

(A) Monday (B) Wednesday (C) Tuesday (D) None of these
Jfe ATE o1 e o AHeR 81, a1 S |18 < 219 fea <6 ugeng 59t feq @ | amm ?
(A) HITR (B) FHaR (C) @R (D) T U IS T
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138.

139.

140.

141.

142.

143.

144.

In a code ‘NOBLE’ is denoted by ‘QREOH’, then the coded form of
‘PLATE’ in the same code will be

(A) SODWH (B) SODVH (C) SOCWH (D) None of these
fordt g W “NOBLE’ sl ‘QREOH’ 8 &< a1 71 81, ot ‘PLATE’ &1 shifsd
&Y 3H HIS o ITTEY 9T B 7

(A) SODWH (B) SODVH (C) SOCWH (D) s 4 is &l

As ‘Bird’ is related to ‘wing’, in the same way, ‘Fish’ is related to

(A) Gills (B) Fins (C) Tail (D) Scale

518 yohR veht ey & 99 9 361 YRR Ao hed Faiid g ?

(A) TR B) w@(fe1) (C) IS (D) 3ok (Thed)
Which one of the following does not belong to the group of others ?

(A) Telephone (B) Computer (C) Radio (D) X-Ray
Frer i & B 3771 35 g ) et T T 27

(A) eABE (B) HIH (C) e (D) X-fepui

If Mosque is called Gurdwara, Gurdwara is called Temple, Temple is called
Church, Church is called Fire temple then tell where do the Christians do
their worship ?

(A) Temple (B) Church (C) Fire-temple (D) Mosque

Ife TafiTg =l TEgRT ET ST, TegRT ! HieT, Hict =l =< aUT 9 ol BRI A
g1 ST A1 Tohfeae 7ot JTefT o foTe shat a7

(A) mfe (B) == (C) $RRMA (D) wHiNg
Who has been named India’s richest person in Forbes latest list ?
(A) Mukesh Ambani (B) Dilip Sanghvi

(C) Azim Premji (D) None of these

hIsH Shl 3T i H oRHeh! AT A I §&H GHa Sfth H W@l T 2 ?
(A) ga 3mEHt (B) feeffw@get  (C) semiywsht (D) 37 @ =i &

Who is the author of the book ‘Citizen and Society’ ?
(A) Pranab Mukherjee (B) Hamid Ansari
(C) Manmohan Singh (D) Sharad Pawar

“FSH Tug I T S i@ i 2 7

(A) JEgEst (B) efie @@ (C) wHiE fig (D) e TEN
Who became India’s first woman to win a medal at the Paralympics ?

(A) Sakshi Malik (B) P.V.Sandhu (C) Deepa Malik (D) None of these
ity | ygeh i aTeft wid =it g afgern b o= ?

(A) wftafere (B) Rl wy  (C) dwnfere (D) g O HIE T
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145.

146.

147.

148.

149.

150.

151.

Which one of the following became the 35" members of Missile
Technology Control Regime (MTCR) ?

(A) Israel (B) Pakistan (C) India (D) Russia

T 1 o forw firmmset qenies o WM (MTCR) =61 3591 e SHR™IT TR 8 7
(A) FoIA (B) uifeh&d™  (C) wRd (D) ®&

Which Indian-origin man has been honoured with Knighthood ?

(A) Harpal Singh Kumar (B) Rakesh Khurana

(C) Jamshed Bharucha (D) None of these

fop I 7ot o 89 <hl TTSeEe T HETG fohan TR B 7
(A) T g FAR (B) THITGUAT  (C) SRI 9&=1 (D) 0 U I3 Tl

Which country successfully test-fired Shaheen-1A missile ?

(A) Iran (B) Pakistan (C) India (D) None of these
form o1 3 ToheTaTgEieh IMEH- 1A firaTset st werdor wdteror fopam 2

(A) M (B) wife™  (C) W (D) M & Hls &
Lobsang Sangey has been re-elected as the Prime Minister of

(A) China (B) South Korea

(C) Japan (D) The Tibetan Government in Exile
ISR G fohd <91 o TR < €9 § O4: fHaitaq fohu me & ?

(A) =M (B) cf&rr st

(C) I (D) fersad @R o fataa @

Which country’s Parliament became first in the world to run fully on solar energy ?
(A) Norway (B) Finland (C) India (D) Pakistan

o 391 91 e forve 1 e & ) ot & H ot & e 27

(A) (B) THeive (C) ¥ra (D) dTfeREd™

Who became the first English cricketer to score 10,000 Test runs ?

(A) Alastair Cook (B) Michael Atherton

(C) Andrew Strauss (D) Michael Vaughan

I TEAT 3 forehet 8 fSE 10,000 3 W &A@ ?

(A) R FF  (B) HIsHA AGHA(C) TZRE (D) HIgHdA a9
Who became the most successful female climber of Mount Everest ?
(A) Apa Sherpa (B) Phurba Tashi Sherpa

(C) Lhakpa Sherpa (D) None of these

HT3w¢ TRE T e dTedl Galireh 9% Afgell i 8 ?

(A) JAIRAT  (B) ST AN IRAT(C) ATHUT AT (D) 370 H hig T
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152.

153.

154.

155.

156.

157.

158.

159.

The ‘Sunway Taihulight’ has been declared as the fastest in the world.
(A) Supercomputer (B) Bullet Train (C) Aeroplane (D) None of these

“Td ATSEATSe oh! forvd o1 wardl <fiel TIft aret Hifvd frn mn g |

(A) gRHFX  (B) Tolegd  (C) TIRSEN (D) T 8 i Ta
Euro Cup-2016 was won by

(A) Spain (B) Germany (C) Portugal (D) None of these
U Y — 2016 ST T AT

(A) ®Fg@ (B) g (C) IR (D) T H KR T

World’s first quantum-enabled satellite ‘Micius’ was launched by

(A) USA (B) France (C) Russia (D) China
Towa o1 yom TaTen Gy 3UwE “ffa=|” (Micius) Si-a foham o -
(A) JwEaTd  (B) WEA (C) &G (D) ==+

The first BRICS film festival was organised in
(A) New Delhi (B) Beijing (C) Cape Town (D) None of these

v forer fthed HEcHd T STRIS §3T1 T -

(A) et d  (B) «ifsmd (C) %M H (D) T 8 1S Ta

The world’s largest radio telescope ‘FAST’ was commissioned by

(A) Russia (B) India (C) China (D) USA
Torva =1 g foremer et Sefieentd ‘FAST’ STRY fehalt o7 -

(A) &G (B) WRdd (C) =4 (D) JTETA
The ambassador of ‘Make in India’ initiative is

(A) Mukesh Ambani (B) Kiran Mazumdar

(C) Piruz Khambatta (D) None of these

“Teh 39 SFSAT” UG 1 THHSL B
(A) THY @ (B) fhEaemer (C) fres @ (D) 3 9 1 el

India’s fastest train is

(A) Shatabdi Express (B) Rajdhani Express
(C) Gatimaan Express (D) None of these
W oh T el e 9§ -

(A) TIATeE TREdE (B)  TSIETHT ey d (C) TTiom TedE (D) 390 & whig T8l

The chairman of 215 Law Commission is

(A) Justice Ravi R. Tripathi (B) Justice Balbir Singh Chauhan
(C) Justice T.S. Thakur (D) Justice J.S. Khehar

214 fafyr s & sreaeg §

(A) =mfd e 3R, Bt (B) =Imgfd sote fog g™

(C) =Imrfd & .78, 39 (D) =M S1.TH. Tat
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160. Who became India’s first woman member of the IOC ?

(A) Nita Ambani (B) Apurva Purohit
(C) Arundhati Bhattacharya (D) Anita Kapur
IOC i yorm YR Aiget Tee i i ?
(A) frar st (B) 31qai qUfad
(C) Terad! wgr=md (D) a1 R
161. Which state became the first state to ratify GST Bill ?
(A) Himachal Pradesh (B) Assam
(C) Kerala (D) None of these

I 91 T S vF & faeres ol genferd o arel 9gar Uy 4117
(A) e wem (B) M (C) (D) 3T & %1 Tal

162. ‘INS Tarmugli’ is the first
(A) follow-on Water Jet Fast Attack Craft
(B) fastest submarine
(C) most efficient ‘SONAR’ system
(D) None of these
‘INS ARl (Tarmugli) e
(A) HIH-3T T1E 91 B 3Hh hTHe (B) TSH TSI hl TAgsst
(C) ToH g AHR JoTedt (D) 0 O His &l

163. ‘Swachh Himachal — Padhai Bhi, Safai Bhi’ campaign was launched by
(A) Municipal Corporation Shimla
(B) Municipal Corporation Dharamshala
(C) HPCA
(D) None of these
= feumara-vers ot TwrE ot 1 6t swatd i s

(A) TR e Rmen gra (B) R fm geiwien gra
(C) HPCA gr (D) 8 9 HIs T&l
164. Which state of India became the first state to launch Rotavirus Vaccination Project ?
(A) Himachal Pradesh (B) Kerala
(C) Gujarat (D) Goa
YA <1 98 TgeTT T FTE TeTanstd Senrentvn Tieiee <t JeaTTd i
(A) TEAE@ e (B) (C) T@ (D) e
165. The 2015 Paragliding World Cup was held in
(A) India (B) Japan (C) Russia (D) USA
2015 <t foea s TreTTsien 9V g off
(A) 9RdH (B) UM H (C) ®aH D)y JTaTH
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166.

167.

168.

169.

170.

171.

172.

173.

India’s first e-Vidhan Mobile App was launched by

(A) Goa (B) Kerala (C) H.P. (D) Maharashtra
A k1 YU e-fae A8 U4 Al fomam = o -

(A) & gR (B) oA gRI

(C) Teum=e yew g (D) HENIE g/

Which one of the following was associated with INA ?

(A) Ram Lal (B) Dr. Y.S. Parmar

(C) Bakshi Pratap Singh (D) Dalip Singh

INA & = 5 @ & 9af¥a @i e

(A) THATA (B) €. 99¥.TH. WHI

(C) we&ft yam frg (D) <o &g

Who was the first Health Minister in the Indian Cabinet ?

(A) Vijay Lakshmi Pandit (B) Rajkumari Amrit Kaur

(C) Sardar Vallabh Bhai Patel (D) None of these

YA ohfee o Tom wareey Wl i 97

(A) fasa @veft ufga (B) TSTHHAT 37Hd R

(C) TER TocAvvTs geet (D) 8 9 His &l

Ice-skating club is located in which district of Himachal Pradesh ?

(A) Shimla (B) Kullu (C) Kangra (D) Kinnaur

TS ThieT Forel feumeret wew & ford oot o arafa 2 7

(A) Tmen (B) F (C) HiTet (D) forR
Indira Gandhi Medical College is located at

(A) Kangra (B) Shimla (C) Hamirpur (D) Mandi
3feq el Afgha sivist IEfRIE B -

(A) el (B) Rmer (C) THRE (D) el

Dr. Y.S. Parmar University of Horticulture and Forestry was established in
the year

. 919, 1H. TR IHAfEE 31 gifdsheat T BT h Tt g3 ot 9y -

(A) 1970 (B) 1976 (C) 1978 (D) 1985
The most populous district of Himachal Pradesh is

(A) Kangra (B) Hamirpur (C) Mandi (D) Shimla
TeaTaret Yeu 1 9e™ ot TS arert e | -

(A) TSl (B) TR (C) = (D) fermen

Scheduled Caste population of H.P. is approximately how many pereent of
the total population of the state ?

femmaret wew & srgafea Snfe smard T i e T e feae wfawa B ¢
(A) 15 (B) 20 (C) 25 (Dy~18
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174.

175.

176.

177.

178.

Which of the following district was earliest to be formed ?

(A) Solan (B) Mandi (C) Chamba (D) Kinnaur
fre e |1 e Te® uget SR T ?

(A) "o\ (B) W (C) == (D) ferdR

Who was the first Speaker of Legislative Assembly of Himachal Pradesh ?
(A) M.H. Beg (B) T.V.R. Tatachari

(C) M.S. Himmat Singh (D) Pandit Jaiwant Ram

TeuTeret w1 1 TS TIa™ 9T 1 I8a STeeT shid o1 ?

(A) TH.TF. ST (B) &.41.31R. arar=r

(C) w.ug. fema fie (D) 9.5TFed ™

The popular Holi festival is incomparably celebrated in which place ?

(A) Sujanpur (B) Mandi (C) Kullu (D) Shimla
DI Blett T R AT 9 & Fohd T T TR SITdT 8 ?

(A) R (B) W ©) T (D) femra

The dance ‘Swang Tegi’ is performed during the festival of

(A) Shivratri (B) Navratra (C) Diwali (D) None of these

TN A o ohe RITER W’ S fehalm SiTaT & ?
(A) frfy (B) T (C) dareft (D) FHABE T

Which among the following districts of Himachal Pradesh has least road
network ?

(A) Una (B) Kangra (C) Kinnaur (D) Kullu
Temmeret wewr & = 1 9 fopm 57t © we® 9 desh AT 8 7
(A) =1 (B) el (C) fopeit (D) Feq

Directions (Q. 179 to 184) : Every sentence (given below) is divided into three
sections (A), (B) and (C). Read the sentence carefully and mark the section that
contains an error. If there is no error in the sentence, mark (D).

179.

180.
181.
182.
183.
184.

She 1s more beautiful (A) / but not so intelligent (B) / as her sister. (C) / No
error (D)

The patient will die (A) / before (B) / the doctor comes. (C) / No error (D)
I declared (A) / that all will go wrong (B) / without her. (C) / No error (D)
Work hard (A) / lest (B) / you may not fail. (C) / No error (D)

I will stand by you (A) / in (B) / thick and thin. (C) / No error (D)

No country of the world (A) / is as beautiful as (B) / India. (C)/No error (D)
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Directions (Q. 185 to 190) : Fill in the blanks with appropriate prepositions by
choosing from the four given alternatives, (A), (B), (C) and (D).

18S.

186.

187.

188.

189.

190.

191.

192,

193.

194.

195.
196.

197.

198.

199.

200.

She said that she was feeling sick heart.
(A) in (B) at (C) to
I can write a book grammar.
(A) about (B) of (C) in
We searched happiness in vain.
(A) after (B) for (C) in
You are advised to write pencil.
(A) by (B) into (C) with
Beware back-biters.
(A) from (B) to (C) of
Our clothes were soaked water.
(A) under (B) in (C) on

7w : (v 9. 191 9 195) : Fr=fefaa 8 9 yg ad-t g -
(A) & (B) e (C) 3FFmT
(A) Pt (B) Fvsct  (C) P
(A) I (B) TN ©) frem
(A) ISt (B) SiE@el  (C) 3ATfSeieht
(A) IS (B) 3Tt (C) 3wl
ST € T GERINT ST BI° % 1T Teh 91t B
(A) ATt (B) Torderf (C) 3IqH
frE § s AT EnE R ?
(A) serftaE (B) AcgEd ©) ¥3
ST’ 1 T -To=eg o
(A) M+9%  (B) F+AUH (C) fa+ s
‘ST T YEToR 1 37 3
(A) THgR fhEl S WA AT (B) @ M
(C) SHTET B (D) I T HET
e’ o1 TG T8l B
(A) 39 (B) & (C) w8

31

(D)
(D)
(D)
(D)
(D)
(D)

(D)
(D)
(D)
(D)
(D)

(D)

(D)

(D)

(D)

of
on
into
in
with

with

JfercTen

ft + 3Tk

fomre
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